4

THIS DRAWING 1S UNPUBLISHED. RELEASED FOR PUBLICATION

20

(C) CcOPYRIGHT 20 BY -

ALL RIGHTS RESERVED.

TYPE [,T2040062101-000,WITH LOGO
22 |, 72040062101-000,%L0OGO

M4 SCREW,RECOMMENDED
TIGHTENING TORQUE
MA4B% #AEGEHE| . 2Nm

T
(\ ‘ Fan
U | U
i | |
~r e, - |~ ©
— QY oD
y L] ‘ -j;
ol X
7
L_ 14 - e,
U

PANEL CUT FOR [INSERTS FOR USE
WITHOUT HOODS/ HOUSINGS
Mg A7 4 sh Bt X 2 5 T 3L

oX M3 SCREW,RECOMMENDED
TIGHTENING TORQUE 0. 5Nm

oX M3## ##8%E#E0 . SNm

REVISTONS

DESCRIPTION

DATE

DWN APVD

A INITTAL RELEASE

4LAPR2015

Gy |CW

B ECR-15-013759

277SEP2015

Dw |CW

B1 ECR-16-011988

26AUG2016

YO |CW

NOTES:

. TECHNICAL CHARACTERISTICS:
INSULATION MATERITAL: PC
RATED VOLTAGE: 500V
RATED CURRENT: [I6A
INSULATION RESITSTANCE:

RATED IMPULSE VOLTAGE: 6KV
POLLUTION DEGREE: 3
FLAMMABIL ITY: UL94V-0
MATING CYCLES: 500 CYCLES

>=400M()

A WIRE RANGE: 0.5mm2~2. 5mm2 (AWG20-AWGI4)
. CONTACT TYPE: SCREW CLAMP (M3)
Vo
| . EAE% .
o | HOC-HE-000M | wHma . PC
= “om gxeE: 500V
! rEaEm . | 6A
syl >=400M(0)
fxAmE . 6KV
ARER: 3
4X M3 SCREW,RECOMMENDED E#MEg . UL94V-0
TIGHTENING TORQUE 0O.5Nm wha% . 500 %
AX M3%z ##4%4#%0 . SNm #EEE . 0. 5mm2~2.5mm2 (AWG20-AWGI4)
HwEAA . Bug# (M3)
. )| '
- ,_ﬁ’ T ¢
THIS DRAWING IS A CONTROLLED DOCUMENT. [DW AAPR201TS
CHEINO LAD IAPR?20T5S - TE TE Connectivity
DIMENSIONS: OTTHOELREWRIASNECESSPEUCNILFEISESD- ApngRIS WANGAAPR2015 NAVE
mm L XTANG XUl HE-006-M
0 PLC 4 - PRODUCT SPEC
@G;Eté il 108-137044
3 PLC + - APPLICATION SPEC
iNGPLLECS + - .. 1 1 47 1 37044 SI1ZE CAGE CODE | DRAWING NO RESTRICTED TO
eI E , A S[007T9C=T2040062101000 -
- - CUSTOMER DRAWING SAE 5 MR

1470-19 (3/13)




4

THIS DRAWING 1S UNPUBLISHED.

RELEASED FOR PUBLICATION

20

(C) COPYRIGHT 20

ALL RIGHTS RESERVED.

1470-19

(3/713)

TYPE 2,T2040062101-001,WITHOUT LOGO
2,12040062101-001,#%L0GO

EEN

r

? 1
REVISIONS
p LTR DESCRIPTION DATE DWN APVD
SEE SHEET 1
NOTE :
ALL SPEC REFER TO TYPE |
VA% -
maFRAESER TYPE |
i ) ) HE-006 MALE INSERT
T2040062101-000 HE-006-M HE-006 i TYPE 1
i ) ) HE-006 MALE INSERT, WITHOUT LOGO
T2040062101-001 HE-006-M HE-006 2% £L0GO TYPE 2
PART NUMBER PART DESCRIPTION TYPE
#oe # £ A
THIS DRAWING 1S A CONTROLLED DOCUMENT. |OWN 4APR2015
CH%INO LAD AAPR?201T5 - TE TE Connectivity
DIMENSIONS: OTTHOELREWRIASNECESSPEUCNILFEISESD. AP%}D_{RIS WANGAAPR2015 NAVE
mm X TANG XU HE-006-M
0 PLC L. PRODUCT SPEC
@G;Eté i 108-137044
3 PLC +- APPLICATION SPEC
iNGPLLECS +- . 1 1 47 1 37044 SIZE CAGE CODE | DRAWING NO RESTRICTED TO
MATERTAL FINISH WEIGHT B

A3

00779(C=T2040062101000

CUSTOMER DRAWING

SCALE SHEET

101

OF

RE\/B W




	Sheet 1
	Views
	new_view_1
	底部_3
	new_view_4
	new_view_6
	left_7
	top_8


	Sheet 2
	Views
	new_view_15
	new_view_17
	top_18
	left_19
	bottom_20



